M'AM‘“@ MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1107

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2902 FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

Stanley Access Technologies

65 Scott Swamp Road

Farmington, CT 06032

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Series “3000 Dura Storm” Aluminum Automatic Sliding Glass Door w/ Breakout-LMI
APPROVAL DOCUMENT: Drawing No. 04-SAT-0039, titled “Dura-Storm 3000 Automatic Sliding Glass
Door”, sheets 1 through 9 of 9 prepared by Engineering Express, dated 10-08-2004 and last revised on 06/29/2009,

signed and sealed by Frank L. Bernando, P.E., bearing the Miami-Dade County Product Control Renewal stamp
with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and small Missile Impact
LIMITATION: 1. Max. DLO width = 33-"/s” and DLO height = 32”

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA No. 09-0413.11(05-0228.01) and consists of this page 1 and evidence page E-1, as well
as approval document mentioned above.

The submitted documentation was reviewed by Ishaq I. Chanda, P. E.

NOA No 09-0826.09

" Expiration Date: December 09, 2014
MamiDaDE COUNTYY) /T (05 Approval Date: October 21, 2009
c: L Page 1



Stanley Access Technologies

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS (Transferred from NOA# 09-0413.11)
1. Manufacturers die drawings and sections.
2. Drawing No. 04-SAT-0039, titled “Dura-Storm 3000 Automatic Sliding Glass Door”,
sheets 1 through 9 of 9 prepared by Engineering Express, dated 10-08-2004 and last
revised on 06/29/2009, signed and sealed by Frank L. Bernando, P.E.
Note: This revision consists of extrusion part numbers & addition of cluster anchors.

B. TESTS (Transferred from NOA# 09-0413.11) Original test conducted per SFBC, PA 201, 202

and 203-94 now termed as TAS 201, 202 and 203-94
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, per FBC, TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94 (Not Performed)

4) Large Missile Impact Test per FBC, TAS 201-94

5) Cyclic Wind Pressure Loading per FBC, TAS 203-94

6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of aluminum automatic entrance door, prepared by
Fenestration Testing Laboratory, Inc. Test Report No. FTL-4207, dated July 28, 2004,
signed and sealed by Edmundo Largespada, P.E.

C. CALCULATIONS (Transferred from NOA# 09-0413.11)
1. Anchor Verification Calculations, complying w/ FBC-2007, dated 02-24-2009, prepared,
signed and sealed by Frank L. Bennardo, P. E.
2. Glazing complies with ASTME-1300-02 &-04

D. QUALITY ASSURANCE ‘
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 07-1116.11 issued to SAF-GLAS, L.L.C. for “SAF
GLAS, Polycarbonate laminate”, expiring on 12/16/12.
2. Notice of Acceptance No. 08-1118.07 issued to Oldcastle Glass Inc., for “Storm
Glass”, expiring on 12/11/13.

F. STATEMENTS

1. Statement letter compliance to FBC-2007, dated Sep. 08, 2009, signed by Frank L.
Bennardo, P. E.

2. Request for renewal with “No change” issued by Stanley Security Solution, signed and
sealed by Larry Hamaker, P. E.

3. Statement letter compliance to FBC-2007 and “No financial interest”, both dated Feb. 24,
2009, signed by Frank L. Bennardo, P. E. (part of NOA#09-0413.11)

4, Statement of lab compliance, as part of the above referenced test report.

G. OTHERS
1. This NOA revises NOA # 09-0413.11(05-0228.01), expiring December 09, 2009.
2. Manufacture supplied Adam Rites deadbolt/hook and bolts mechanism brochures.

3. Previous NOAC(s) associated with this file is No. O4-1026.01Q

P

fsa- U Ishaq L Chanda, P.E.
Product Control Examiner

NOA No 09-0826.09

Expiration Date: December 09, 2014
Approval Date: October 21, 2009



g

F:\01 Project Files\Staniey (SAT)\2004 Jobs\04-SAT-0039 Bi Part NON Reinf NOA\04-SAT-0039_04d Bi Part NON Reinf NOA.dwi

rbartlett

DURA-STORM 3000 AUTOMATIC SLIDING GLASS DOOR

LARGE MISSILE IMPACT RESISTANT

FRANK L. BENNARDO, P.E.
# PE0046549

e,

[3/

06/29/2009 - 1:00pm

ENGINEERING
EXPRESS®

160 SW 12th AVENUE, #106
WWW.ENGEXP.COM

DEERFIELD BEACH, FL 33442
PH: (954) 354-0660 Fax: (954) 354-0443

CERT OF AUTH #9885
A FRANK L. BENNARDO, P.E., INC. INNOVATION

PACKAGE WIDTH INFORMATION PACKAGE HEIGHT INFORMATION DESIGN PRESSURE RATING - SERIES 3000 PANIC
PKG SLIDING DOOR |  (SX) DOOR (SO) DOOR DOOR MASONRY | CAULKING PACKAGE MASONRY CAULKING ACTUAL WHERE WATER INFILTRATION | WHERE WATER INFILTRATION
WIDTH | OPENING WIDTH WIDTH TRAVEL | OPENING ALLOWANCE HEIGHT OPENING ALLOWANCE ﬁhEDAEF;{ %PE%DER REQUIREMENT IS NEEDED. REQUIREMENT IS NOT NEEDED.
14'-0" 66 1/4" 43 7/16" 437/16" | 331/8" | 14-1/2" | 1/4" / SIDE g o] B o 6-10 /2" POSITIVE NOT APPROVED +70 PSF
(1687) (168 1/27) (921/4%) / (821/27) NEGATIVE NOT APPROVED - 70 PSF
swmeEWﬁn
complying with

ANCHOR TYPE e o withthe Florida,

IN CONCRETE (3KSI MINIMUM): 1/4" PERMASEAL TAPPER ) 10" 0.C. MAX, gmp‘“% e 07-0Y[2.][10" 0.C. MAX,

(Fu=120KSI, Fy=92KSI) CONCRETE SCREW EMBEDDED 1-1/2" MIN, 4" MAX, TYPICAL __ TYPICAL *piratioo Dute DEC o5 o3, ZoHP 1A

WITH 3" MINIMUM EDGE DISTANCE. ATHEAD CLUSTER OF (5) hes ) (haue | 4" MAX, TYPICAL

IN STEEL: 1/4-20 SMS SAE GRADE 5 OR BETTER (NOTE A36 3/16" Verriens AT e Ml Dude Frodust Contral AT HEAD

STEEL SUBSTRATE MIN.), WITH 1/2" MINIMUM EDGE DISTANCE (9) SCREWS SPACED 3" O.c. " Bhelsion SINGLE ROW OF

IN WOOD (G=0.55 MINIMUM): #14 SHEET METAL SCREW EMBEDDED EVENLY SPACED ANCHORS AT HEAD

1-1/2" MIN, WITH 3/4" MINIMUM EDGE DISTANCE L1 IO 1| (TITT [ | RS - : < 5 >

ANCHOR SPACING: (NOTE: MINIMUM 2X4 WOOD BUCK FOR WOOD SCREWS) 1 LD LD e

SILL: DOUBLE ROW, 4" FROM ENDS, BALANCE 12 5/16"" 0.C. MAX 10" MAX @ /\{ FLUSH BOLTS /‘

HEAD: SINGLE ROW EA MEMBER, 4" FROM ENDS, BALANCE 10" O.C. MAX. .

JAMBS: SINGLE ROW EA MEMBER, 2" FROM BOTTOM END, BALANCE 10" O.C. - (20) (s8) [ ]\ (a1) /\ \(70) |

2, <ﬁ N ANE NN
V4 zdn 2 72 SO PIVOT

SYSTEM NOTES - 2 2 4 4 4 SEE DETAIL

1) ALL ALUMINUM PARTS SHALL BE 6063-T6 ALUMINUM ALLOY AND TEMPER, @\ DAYLIGHT DAYLIGHT SX PIVOT SHEET 6

UNLESS OTHERWISE NOTED. OPENING OPENING SEE DETAIL SAME ANCHOR SPACING

2) GLAZING: 9/16" IMPACT RATED aneerow ] - ' SHEET 6 AS LEFT JAMB
"SAF-GLAS" BY SAF-GLAS, LLC OF ANCHORS 337/8" — 33 7/8" —~|
"STORM GLASS" INTERLAYER BY OLD CASTLE GLASS, INC. AT JAMBS MAX. MAX. - >

3) CORNER PANEL CONSTRUCTION: PANEL CORNERS ARE BUTT JOINTED, SECURED A\ e il o @ < >
WITH (4) FULL WIDTH 5/16" THREADED TIE RODS AT TOP RAIL. INTERMEDIATE PACKAGE
HORIZON MUNTIN BAR AND BOTTOM RAIL. ALL JOINTS ARE ALSO WELDED. P ( 4@ \

4) THE GLAZING MATERIAL IN BOTH FIXED AND SLIDING PANELS OF ALL SLIDING ' = = v
DOORS SHALL COMPLY WITH THE REQUIREMENTS IN THE PERFORMANCE PROBUCT RENEWED 7 A g7 2
SPECIFICATIONS AND METHODS OF TEST FOR SAFETY GLAZING MATERIALS 45 complying wirt me‘n it 4 7 | |27 e 4 ;7 =
USED IN BUILDINGS. Buicing Code o MAX. MAX. 0516 00 4

Aceeptance m,,o‘?»ééz .09 _ DAYLIGHT DAYLIGHT ////

mmmwmmpﬂ¢2;ﬂ% OPENING OPENING <E>
GENERAL NOTES 8y_(Skas |. Aa R i - i

Miksst Bradd Fro = (79 "So" @ "SX" @

1) THIS DOOR HAS BEEN TESTED & DESIGNED IN ACCORDANCE WITH THE Division
REQUIREMENTS OF THE 2007 FLORIDA BUILDING CODE HIGH VELOCITY ) 33 7/8" 33 7/8" o o
HURRICANE ZONE (HVHZ) AND MIAMI DADE COUNTY PROTOCOLS TAS 201 FOR to° o.c MAX. DAYLIGHT MAX. DAYLIGHT SX SO
LARGE MISSILE IMPACT, TAS 202 FOR UNIFORM STATIC AIR PRESSURE AND X OPENING OPENING ] (3)

TAS 203 FOR CYCLIC WIND LOADING. — \

2) PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE EXISTING STRUCTURE TO FLUSH BOLTS
WITHSTAND ADDITIONAL IMPOSED LOADS. WOOD BUCKS NOT BY STANLEY SHALL SEESHT 6
BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE EXISTING STRUCTURE. 4 \\:1, _

3) DOORS DETAILED HEREIN HAVE BEEN DESIGNED AND TESTED TO THE MAXIMUM TTTTD] AT D N T |/|> | H>| = SO PIVOT
SPANS AND LOADS SHOWN ON THESE DRAWINGS. REFERENCE FENESTRATION J | 3o c »| [ 3" o.c?‘ ;] L T 0 oEE DETAIL
TESTING LAB REPORT #: FTL 4207. 2" DOUBLE ROW <HEET 6

4) ANCHORS SHALL BE INSTALLED PER MANUFACTURER'S SPECIFICATIONS, SPACED 12 5/16" 0.C. CLUSTER OF <10) OF ANCHORS 12 5/16" o.C.

AS NOTED HEREIN. ANCHOR EMBEDMENT TO BASE MATERIAL DOES NOT INCLUDE 4" MAX, TYPICAL _| MAX, TYPICAL ANCHORS &1 () ROWS AT AT SILL MAX, TYPICAL 4" MAX, TYPICAL
AT SILL I
WALL DRESSING OR STUCCO. AT SILL

5) ALL BOLTS & WASHERS SHALL BE ZINC COATED, GALVANIZED OR STAINLESS
STEEL WITH A MINIMUM TENSILE STRENGTH OF 60 KSI, EXCEPT INSTALLATION ANCHORS.

PACKAGE WIDTH = 168" MAX

EXTERIOR ELEVATION (S0O-SX-S5X-S0)

SCALE NTS

4
(@]
8
T}
22
o] 133
920
(nLuE
& (@A™
NEEREET
> tﬁgm(uu
o3|z s Q
LLI (325 Rl
“a ESw
[e) 2wo
- IZSJZ 00
2 GEEEE
Vol Z = =
FEE=E 30
< LEGlE % =
OZ1 D O w
F (“,}85?('(‘3
o “O(%g
I'ﬁ<O |
w <OLI—ODH
S
ZwE
o0
= X
gj
]
[a]
(T DD
wiS|oiss
=11
gl8io|Nid
Q6 IS NS
=2 Kk=1k=]
g
9|99
O | |O|L
£
Zz|z,1¢
alpin|x|el,
2
=
i
2 |o| |2
B
RIS
Wiemn o
KXo |RR|A

SCALE:

PAGE DESCRIPTION:

il




F:\01 Project Files\Stanley (SAT)\2004 Jobs\04-SAT-0039 Bi Part NON Reinf NOA\04-SAT-0039_04d Bi Part NON Reinf NOA.dwg

rbartlett

06/29/2009 - 1:00pm

FRANK L. BENNARDO, P.E.

# PE0046549

Vo

PACKAGE WIDTH INFORMATION PACKAGE HEIGHT INFORMATION DESIGN PRESSURE RATING - SERIES 3000 PANIC
PKG SLIDING DOOR | (SX)DOOR | (SO) DOOR DOOR MASONRY | CAULKING PACKAGE MASONRY CAULKING ACTUAL WHERE WATER INFILTRATION | WHERE WATER INFILTRATION
WIDTH | OPENING WIDTH WIDTH TRAVEL | OPENING | ALLOWANCE HEIGHT OPENING ALLOWANCE Sh%/\E*E%I’EiDER REQUIREMENT IS NEEDED. REQUIREMENT 1S NOT NEEDED.
n " -g" " n 1/4" n
85 3/4%) (86 1/4%) (92 1/4%) (82 1/2%) NEGATIVE NOT APPROVED - 70 PSF
ANCHOR TYPE SINGLE ROW OF "
IN CONCRETE (3KSI MINIMUM): 1/4" PERMASEAL TAPPER ANCHORS AT HEAD 10" 0.C. MAX,
(Fu=120KSI, Fy=92KSI) CONCRETE SCREW EMBEDDED 1-1/2" MIN, TYPICAL
WITH 3" MINIMUM EDGE DISTANCE. 4" MAX, TYPICAL _| ANGHOSTER OF &) | 4" MAX, TYPICAL
IN STEEL: 1/4-20 SMS SAE GRADE 5 OR BETTER (NOTE A36 3/16" HEA VERTICAL AT HEAD AT HEAD
STEEL SUBSTRATE MIN.), WITH 1/2" MINIMUM EDGE DISTANCE (9) SCREWS SPACED 3" O.C.
IN WOOD (G=0.55 MINIMUM): #14 SHEET METAL SCREW EMBEDDED EVENLY SPACED
1-1/2" MIN, WITH 3/4" MINIMUM EDGE DISTANCE l L Nl_/l | 1 T (1 )
ANCHOR SPACING: (NOTE: MINIMUM 2X4 WOOD BUCK FOR WOOD SCREWS) T =
SILL: DOUBLE ROW, 4" FROM ENDS, BALANCE 12 5/16"" O.C. MAX Lo MAX \[ FLUSH BOLTS @/
HEAD: SINGLE ROW EA MEMBER, 4" FROM ENDS, BALANCE 10" O.C. MAX. g
JAMBS: SINGLE ROW EA MEMBER, 2" FROM BOTTOM END, BALANCE 10" O.C. \ (a1) |/ \(70) \
T E e?&‘~<< o anl SO PIVOT
SYSTEM NOTES 72N 7 SEE DETAIL
1) ALL ALUMINUM PARTS SHALL BE 6063-T6 ALUMINUM ALLOY AND TEMPER, @\ Pl ehier 6 SHEET 6
UNLESS OTHERWISE NOTED. ) 12 MAX SAME ANCHOR SPACING
2) GLAZING: 9/16" IMPACT RATED SINGLE ROW SeMAX. o AS LEFT JAMB
"SAF-GLAS" BY SAF-GLAS, LLC OF ANCHORS 337/8" —= B T
"STORM GLASS" INTERLAYER BY OLD CASTLE GLASS, INC. AT JAMBS >y M o~ <E>
3) CORNER PANEL CONSTRUCTION: PANEL CORNERS ARE BUTT JOINTED, SECURED ]|
WITH (4) FULL WIDTH 5/16" THREADED TIE RODS AT TOP RAIL. INTERMEDIATE PACKAGE
HORIZON MUNTIN BAR AND BOTTOM RAIL. ALL JOINTS ARE ALSO WELDED. o M. (44) \
4) THE GLAZING MATERIAL IN BOTH FIXED AND SLIDING PANELS OF ALL SLIDING >
DOORS SHALL COMPLY WITH THE REQUIREMENTS IN THE PERFORMANCE - ",
SPECIFICATIONS AND METHODS OF TEST FOR SAFETY GLAZING MATERIALS 27y MAX. ., | | 27 /4 MaX. 27
USED IN BUILDINGS. 39 5/16" 4;z 4
pRODUCT RENEWED % )
as complying with the Bl I "sX! "SO 5
Buiding Code 7609 i 1
tance NO_Qf:_O_s-'-—-—-
e )
ot Lk d PMW(L = \A 10" 0.C. 33 7/8" | - 3378
‘:ﬁﬁ D TTP MAX. MAX. || ( 3>
o !B _
J ! ! _/LL"'_Ji)' IR T SO PIVOT
o DOUBLE ROW —JhL_3¥%C SEE DETAIL
OF ANCHORS ) SHEET 6
AT SILL 12 5/16" O.C.
4" MAX, TYPICAL _| MAX, TYPICAL 4" MAX, TYPICAL
AT SILL CLUSTER OF (10) I ATSILL
ANCHORS IN (2) ROWS AT FRODUCT REVISED
SILL AT EACH VERTICAL ampiying with the Moride

PACKAGE WIDTH = 85%" MAX

SCALE NTS

] e N J
e ous))

EXTERIOR ELEVATION (SX-SO)

PACCCT T
‘ .fhde et Controh

U] z
Z 233 ¢
o3I <
Thlais, ¢
~r
MNi*=5= 2
I.UUJ wa~0 A
T} SLH Uy
l“ Z"O\Q:DE
S gs
Z LUI..X*LL]
_E SOZWEY
<% 92
OQ|<u,23g
cen3 %63
ZX|5a88 g
NQ < z =
u_ll“ '—I_Jv;&‘z
wH g W
gpog 8
hEx3 d
N ¥
ol E
303:. [ra
<
24
(@)
8
o2
o lhw
jHU
U)U’Z
W <
X
> u_;<m<<u
= S0l X O
L EEEEER
oxol 2 =
Sa DI—(LL
J bty iy
22V 2w
522|348
ORgl20nE
w OZH
_ |_':l—-—-ZO
nEolz 52
mOZD_Iu_]
h w4 <
onZl< s g
v B
<oulS8 o
f 2%
Zw¥
o0
a4
gi
2
[a]
MEEIEE
E(Sidi@a|y),
g NN
Ns3Qls
=1~ =]
g
|49 .45
Qi | [O|C
£
m
HEEEER
w
=
L
el ln| |2
2125|818
2525e =
fgsEs. =
SCALE: 04
PAGE DESCRIPTION:

2




OA.dwg

F:\01 Project Files\Stanley (SAT)\2004 Jobs\04-SAT-0039 Bi Part NON Reinf NOA\O4-SAT-0039_04d Bi Part NON Reinf N

rbartlett

06/29/2009 - 1:00pm

EMERGENCY BREAKOUT
SLIDING DOORS AND
SIDELIGHTS

INTERIOR

PACKAGE WIDTH = 168" MAX.

CLEAR DOOR OPENING

"SO"

"Sx" I\ S

\

EMERGENCY BREAKOUT
SLIDING DOORS

PLAN VIEW

INTERIOR

| — 1
I
\ n SO n
AN
AN
\
\ —l
PRODUCT RENEWED
ascomplying with the Florids
Buiding Code
Aveeptance No O 7~ 082L-6F
Expiration Date D= C 07,20 /\7;
By (, Lot v 7
Mizuti Dade Plotdact Contia PRODUCT REVISED
Pivision as complying with the Floridy,
Buiding Cede
S““Pmm Necs£-04/2.//

PACKAGE WIDTH = 85-3/4" MAX.

CLEAR DOOR OPENING

| e

ipiration Date 7). 7

FRANK L. BENNARDO, P.E.
# PE0046549

eollins

WWW.ENGEXP.COM

160 sw 12th AVENUE, #106
DEERFIELD BEACH, FL 33442
PH: (954) 354-0660 Fax: (954) 354-0443
CERT OF AUTH #9885
A FRANK L. BENNARDO, P.E., INC. INNOVATION

ENGINEERING
EXPRESS®

fa)
<
S
&
a.
=
<
=
n
Q
O
0}
n
0

24
(@]
(@]
[a]
(U]
=
—
[a)
8
-
73]
Y
o =
g =
O
S| R
o]
Ol <
=B
ol 2
0Of =
pd [ )]
=11
OZC<
o
s
(4]
=
5
l_
¢
o]
[a]

w0
L
—
3
-
(@]
4
I
O
w
-
1923
n
L
Q
O
<

P
LL
|
3
-
70

|_
2
|_
w
gu
=
W <
a4
1y
Cu
g9
Zu
HO
w
g
l_
)
542
< N
=
e
[a]
Ss
<g
w
L‘JE
5

09/20/04

10/08/04
02/23/09

06/25/09

FLB
FLB
CL

DRWN|CHKD | DATE

DW
DW
KL

RKB |FLB

REMARKS
ORIGINAL

REVISIONS
2007 FBC

BCCO COMMENTS

N AN
N AN
~ N
~ J ~
EMERGENCY BREAKOQUT T ~
SLIDING DOORS
EXTERIOR
PLAN VIEW

AN

EMERGENCY BREAKOUT
SLIDING DOORS AND
SIDELIGHTS

04-SAT-0039
SCALE: 104
PAGE DESCRIPTION:

3




FA01 Project Files\Stanley (SAT)\2004 Jobs\04-SAT-0039 Bi Part NON Reinf NOA\04-SAT-0039_04d Bi Part NON Reinf NOA.dwg

rbartlett

06/29/2009 - 1:00pm

SECURITY HOOK INTERLOCK
SECURES PANELS TOGETHER
IN CLOSED POSITION

(SEE DETAIL PG 6)
- EMB.

ADAMS RITE G86-11-36

PANIC PUSH BAR (2)

HEADER ABOVEZ

Do)

L

&)
()

INTERIOR
45

\ll(ﬁ*‘fﬁ:

0
56 7:
4 oY

fJ

‘“‘“‘“‘3[\ @"sx "SX“ |

DTGHTEE

1

N><
»'«.vl [i]

(950"

 Geb ®

EXTERIOR
(4)

PACKAGE WIDTH = 168" MAX. —

L wr—

|
13/4" H ‘

ADAMS RITE G86-11-36
)

PANIC PUSH BAR

G

\

—~— EMB.

(SEE DETAIL

ROUGH OPENING

HORIZONTAL SECTION

SECURITY HOOK
INTERLOCK SECURES
PANELS TOGETHER IN

CLOSED POSITION

INTERIOR

PG 6)

\

]

M-
@ =

(49

.
HEADER ABOVE
/ Y —

A

nSO" 1@_ ISR,

© ]

®

~— EMB.
] B, \
PO e
ﬂ /\i‘ A
41/2"

I

(5)

PACKAGE WIDTH = 85-3/4" MAX.

1/4" SHIM SPACE
EXTERIOR

—

ROUGH OPENING
HORIZONTAL SECTION

—SEE ANCHOR
SCHEDULE ON SHEET 2
& ELEVATION

\‘ EMB.

41/2"

SEE ANCHOR
SCHEDULE ON SHEET 1
& ELEVATION

PRODUCT RENEWED

as eomplying with the Plozida,
Buiding Code 2l
Aveeptanes No. & G-0526:07

Expiration Duted EC oée § 0 14

By

Mizmi Dade’Prodiscs Us

Division

PROBUCT REVISED
as complying with the

Buiding Code
Acceptance No _ﬁ;@.‘_‘f_/ﬁ /

=
Pivision

Eapiration Date 4
w . L\."\. La—
Dode Frodust Coutrel

:{ # PEOU4BS4S ; [

0 2
Z 18%% &
oliii, o
L %\mftqz 2
U] u.l-I;';O )
Ly R |-
Z LLIIT"&g s
m >U§u.l’:"'!
— <u_ |5n_
OLl<ss 93g
caB3 260
WOy
Z>< 50‘3;"&‘2‘
- 8
Wl ;EE?UE
%3
ou.l@/ 2
oWz 2
A" w
<

ROAD

FARMINGTON, CT 06032
DURA-STORM 3000 ALUMINUM AUTOMATIC SLIDING DOOR

STANLEY

65 SCOTT SWAMP
E AND SMALL MISSILE IMPACT RESISTANT
-DADE NOTICE OF ACCEPTANCE

MIAMI

LARG

00/20/04
10/08/04/
02/23/09
06/25/09

DRWN|CHKD | DATE
FLB
FLB

gz
fas]
BRIZE .

o

-4

gl lo| |2

£22a8
EQ”E’BS =
FEEEE =
04-SAT-0039
SCALE: 104

PAGE DESCRIPTION:

Al

5

N




einf NOA.dwg

F:\01 Project Files\Stanley (SAT)\2004 Jobs\04-SAT-0039 Bi Part NON Reinf NOA\04-SAT-0039_04d Bi Part NON R

rbartlett

ADAMS RITE G86-11-36
PANIC PUSH BAR (2)

06/29/2009 - 1:00pm

— EMB.

INTERIOR

PHILLIPS FIBER
1050/70 TEXTURED &
SILICONE TREATED,
ADHESIVE BACKED

/4" PLASTIC SHIM
|- SEALANT & BACKER ROD

T

G -

@

34X35X36

PACKAGE

EXTERIOR HEIGHT =
SEE DETAIL

; j SHEET 6
ALy 6'-10 1/2"

92" MAX.

(82 1/2")
CLEAR DOOR
OPENING

|
=

SEE SHEET 6 FILAMENT GAGE
OPTIONAL THRESHOLDS d -006 DIA]
: / FLOOR |
12 I A 'ﬁ EMB.
ANCHORS ARE DOUBLE-"| THERM-L-BRUSH
ROW AT SILL | SFC 110 5 ?
24" MIN FILAMENT GAGE .006 DIA.
SPACING |

6“

VERTICAL SECTION

OO

RODUCT RENEWED
;;R:gmplying with the ;
ki Code
m%nce No,fz’.';..d}-gé' Gaf/
Fapiration Date ,Qs.%ﬁ&.;?ﬁ &f

&
o,

Division

PRODBUCT REVISED
@s complying with the Florids
Baidiag Code

nee Mo 97 -5/ g[/
m;:m Date DEC O 5, 2207

cihitet Contral

S

FRANK L. BENNARDO, P.E. \
PEQ046549

CERT OF AUTH #9885
A FRANK L. BENNARDO, P.E., INC. INNOVATION

160 SW 12th AVENUE, #106
WWW.ENGEXP.COM

DEERFIELD BEACH, FL 33442
PH: (954) 354-0660 Fax: (954) 354-0443

ENGINEERING
EXPRESS®

[a)]
<
Q
4
o
=
<
=
n
Q
&)
0]
n
©

4
o
o)
a
0]
=
Z
)
a
-
[72]
Q
[(a]
g8
=2
Dl =
=B
Ez
=
ol =
23
E(
[}
£ S
™
=
S
B
2
=2
a

S
LLI
—d
3
=
7p)

(]
it}
=
)
e}
=
o]
=
I
O
i}
-
9]
9]
L
]
8]
<

]_
Z
l_LI.I
gu
=
w
x <
o
G5
g0
s <
=W
w O
= w
e
]_
Fo
52
@
=
8
[a
Z=
<
w
WE
3

02/23/09

CL

LRI

DW |FLB |09/20/04
DW |FLB |10/08/04

KL
RKB |FLB |06/25/09

DRWN|CHKD | DATE

REMARKS
ORIGINAL
REVISIONS

2007 FBC

BCCO COMMENTS

04-SAT-0039

| SCALE: —104

PAGE DESCRIPTION:

9

S

.




ON Reinf NOA.dwg

F:\01 Project Files\Stanley (SAT)\2004 Jobs\04-SAT-0039 Bi Part NON Reinf NOA\04-SAT-0032_04d Bi Part N

rbartlett

| FFeotaesas A% PE)
INTERIOR £ & T exterior @D 30 9
INTERIOR i S EXTERIOR — "
FLUSH FINISHED BOLT - Tk 0 3
~ FINISHED Ll on. B
LB(%\% N FLOOR " LOCATION T JJ FLOOR Z@ 893 s
( ,—_“ " i J 1 4 L U D:U] :Him § P E
J | 1/2 L Nvzr<9 °
rrel 5+ ) j ; T W2 - HOUed
Rl S T, 71N VN A [T
I | “ 6" EMB. /////// N /////// //////// J 0% i'ﬂ.ﬂg%ég
- + O - X
EMB. 41/2" —\E 515260 {Kv\ 7, |~ EIEEI NQ2 kS
- ANCHORS AT SILL N SLBE L
515262 ARE DOUBLE ROW [ ] PSS S
— =) X
. . INTERIOR 8wz 3
INTERIOR o EXTERIOR 5
x 7 A=
1
FLUSH
BOLT ~ FINISHED L ) L =1 %
LOCATION ™Ik FLOOR ‘ - , P —( 2 8
B¢ 0 | —— — 7 N ot
li 1/2" N | gz
I / r S R ) 55w
4 g s \ 7 a0z
a‘; . '4" “' L. “ « . TN D e _.-. /////////// g gf-' E
] f = Z > M
i EXTERIR | L L RN
ANCHORS AT SILL S DETAIL PRODUCT RENEWE:,I N RaoR QW) — 25522y
ARE DOUBLE ROW SECURITY HOOK INTERLOCK o Somplying with tive Flgpigs z {ﬁ‘%% 29E
(5) THRESHOLD OPTIONS (REF. PG 4) ADAMS RITE G86-11-36 Buiding Code < M e
PANIC PUSH BAR Aceeptance No© 2~ 08524 0 G ; = goz|S 4y
Expi(mhon Dats_Derp I b; §8§ z s
) : SO PIVOT DETAIL STATIONARY PANEL <8852
EXTERIOR GLASS LITE (SEE 563 INTERLAYER (SEE GLAZING Miz Dadl Prodag s ; z %
GLAZING SCHED BELOW) 9/16" SCHEDULE BELOW) J— | slon zws
|4
DOW CORNING #995 1, PRODUCT REVISED 23
GLAZING COMPOUND N 25 complying with the Florida 2
Buidiag Code [a}
Acteptance No 57-04 /2. 1]
@\ } ]l; ]IEIOSRHED E!p:li;ﬂ:emoie W MESEES p—
1" MIN. l HHERE =
SETTING BLOC N ;o GLASS By S Ll fan 218/12i18/8 =
1/4n X 1 2u X 2u , :: PENETRATION ’ |I| m MM %ﬁt QM Q o ° __E__
(2 PE GLASS)-\ \ ‘ \ — — aa} — Pivision ég 3lzla é%_
| Q) HHEAE =
. - ® PANIC HARDWARE DETAIL (VIEW FROM INTERIOR) =
#10 X 3/8 SMS =
(5 PER EX‘I/'ERIOR o =
GLASS STOP)  EXTERIOR INTERIOR ol |, I8 =
GLAZING DETAIL | 3250818 =
uFEzss =
X S|e|Rial, —
GLAZING SCHEDULE = 04-SAT-0039
9/16" NOMINAL LAMINATED IMPACT GLASS - - Eant SEECETOR
"SAF-GLAS" BY SAF-GLAS, LLC - (2) LITES OF - '
1/4" ANNEALED GLASS WITH AN 0.090" INNER LAYER.
"STORM GLASS" INTERLAYER BY OLD CASTLE GLASS, INC. - SX TOP PIVOT 9
(2) LITES OF 1/4" ANNEALED GLASS WITH AN 0.075" SAFLEX INNER LAYER. - @

06/28/2009 - 1:00pm




A 9

F:\01 Project Files\Stanley (SAT)\2004 Jobs\04-SAT-0039 Bi Part NON Reinf NOA\04-SAT-0039_04d Bi Part NON Reinf NOA.dwi

rbartlett

06/29/2009 - 1:00pm

PG
5/16" DIA, STEEL THREADED RODS l
ULL LENGTH OF RAILS
PANELS HAVE BUTT JOINTS THAT ARE
SPOT WELDED ON THE INTERIOR 2
(TYPICAL ALL STILE JOINTS) //Z// ]
N
) |
- g }
1
//////// N
0 TN
39 5/16"
48"
PANELS HAVE BUTT JOINTS THAT ARE
SPOT WELDED ON THE INTERIOR FINIFSLBER _LaED
(TYPICAL ALL STILE JOINTS) \ @
5/16" DIA. STEEL THREADED RODS :
ULL LENGTH OF RAILS
\ SO PIVOT DETAIL STATIONARY PANEL
PRODUCT RENEWED
S Ok e Pookca -
entnee No OF-0826-09 ORUCT REV}
e RESRE, L.
Accp wee Mo
Expiratioy &&%ﬁ%
: Mﬁggﬁ}quLu;;.

volweet Congral

OPTIONAL FLUSH BOLT DETAIL (VIEW FROM INTERIOR)

FRANK L. BENNARDO, P.E.
# PEQ046549
ataad)

160 SW 12th AVENUE, #106
DEERFIELD BEACH, FL 33442

PH: (954) 354-0660 FAx: (954) 354-0443

WWW.ENGEXP.COM

CERT OF AUTH #9885
A FRANK L. BENNARDO, P.E., INC. INNOVATION

Q
<
o]
o
o
=
<
=
n
Q
Q
n
n
's}

4
Q
Q
=]
]
=z
—
0
—
-
wn
Q
—
Y Bt
3=
(Vo)
S =
=2
bl=
g%
ol
Of =
=4 ]
[ ]
§<
Q
53
(301
=
o
(@]
|_
[2]
g
=2
0

wn
it}
—
3
a
o
=
T
O
in}
l—-
v
199]
i}
O
O
<

o
LU
—d
.
-
n

l_
2
l_I.lJ
72
[17)
2 S
al
Gy
L0
Z<
- L
HO
w
@o
l_
50
2 o
< N
Z <
n o
O =
zZ =
<
wl
L‘JZ
S

10/08/04
02/23/09

FLB |09/20/04

FLB
L

DRWN|CHKD | DATE
RKB |(FLB |06/25/08

DW
bW

KL

REMARKS
ORIGINAL

REVISIONS
2007 FBC
BCCO COMMENTS

AT A

04-SAT- 0039

SCALE:
PAGE DESCRIPTION

I/

9




rt NON Reinf NOA.dwg

F:\01 Project Files\Stanley (SAT)\2004 Jobs\04-SAT-0039 Bi Part NON Reinf NOA\04-SAT-0039_04d Bi Pa

rbartlett

06/29/2009 - 1:01pm

FRANK L. BENNAI

RDO, P.E.\

160 SW 12th AVENUE, #106
DEERFIELD BEACH, FL 33442

PH: (954) 354-0660 FAX: (954) 354-0443

CERT OF AUTH #9885 y
A FRANK L. BENNARDO, P.E., INC. INNOVATIGN

WWW.ENGEXP.COM

ES

ACCESS TECHNOLOGI
65 SCOTT SWAMP ROAD

FARMINGTON, CT 06032
DURA-STORM 3000 ALUMINUM AUTOMATIC SLIDING DOOR

LARGE AND SMALL MISSILE IMPACT RESISTANT
MIAMI-DADE NOTICE OF ACCEPTANCE

[09/20/04
|10/08/04
[02/23/09
|06/25/09

CL

DRWN|CHKD | DATE
IFLB
|[FLB

bw
DW
(5
RKB (FLB

PART NUMBERS /
fITEM QTY DIE NUMBERS DESCRIPTION
1 1 313878 DURA-STORM 3000 BI-PART IMPACT W/ PANIC HARDWARE
2 2 413089-1 JAMB INSERT
3 1 412858 JAMB, 4.500 X 1.750 X .100
4 1 412858 JAMB, 4.500 X 1.750 X .100
1 515260 THRESHOLD
5 1 516339 THRESHOLD
1 515262 THRESHOLD
1 516340 THRESHOLD
6A 1 515686 HEADER COVER, 8.468 X 1.968 X .109
6B 1 110755 HEADER, 8.000 X 6.000 X .140
6C 1 515056 HEADERTRACK TUBE, 4.624 X 3.110 X .125
7 1 157508 DOOR PANEL, SX -RH
8 1 713241 THERM-L-BRUSH
9 1 710739 THERM-L-BRUSH
10 2 516711 FLUSH BOLT GUIDE
11 12 312063499 SCREW, FHM-PH 1/4-20 X 1/2 LG
12 2 713823 REINFORCEMENT, SECURITY HOOK, OUTSIDE
13 2 713822 REINFORCEMENT, SECURITY HOOK, INSIDE
14 2 713821 HOOK, SECURITY, MEDIUM STYLE
15 1 380901499 NUT, HEX JAM, 5/16-18
16 1 353367000 SCREW, SHC-SK, 5/16-18 X 2.0 LG
17 1 412638 LABEL, CAUTION
18 2 413162 EXIT INDICATOR
19 1 412571 BLOCK-ANCHOR
20 1 412572 SPACER - PILLOW BLOCK
21 2 353349000 SCREW, SHC-8K, 1/4-20 X 1.0 LG
22 2 312073499 SCREW, FHM-PH 1/4-20 X 1/2 X 2.0 LG
23A 2 709221 LOCK, THUMBTURN
23B 2 OPTIONAL LOCK, ADAMS RITE AR4550 DEADBOLT LEVER
24 2 351801499 SCREW, SHC-SK, 1/4-20 X 3/8 LG
25 4 713321 SCREW, FHC-SK, #10-32 X 3/8 LG
26 1 413795 STILE, LOCK-SX, RH, 3.531 X 1.750 X .125
27 1 412944 STILE, PIVOT-SX, RH, 3.531 X 1.750 X .130
28 1 111879-2 HANGER ASSEMBLY-SX, RH
29 1 111434C RAIL, BOTTOM-SX, 9.625 X 1.595 X .140
30 4 312008960 SCREW, FHM-PH, #8-32 X 5/8 LG
31 4 413821 FLUSH BOLT, ADAMS RITE 41-0444-03
32 2 413811 ROD ASSEMBLY, THROWBOLT ADAMS RITE 31-0278
33 6 711475 WASHER, TIE ROD
34 4 711474 NUT, TIE ROD
35 4 711483 ROD, TIE, 5/16-18 UNC-1A, STEEL, FULL LENGTH OF RAIL
36 8 706233 NUT, FLANGED
37 1 413810 LOCK, 2 POINT ADAMS RITE 1853A-35L-11, A1-0464-03
38 2 516338 CLIP, GUIDE
39 1 515265 BOTTOM GUIDE ASSEMBLY
40 1 516224 DETENT - DOOR PORTION
41 1 412469 RAIL, TOP-SX, RH, 2.875 X 1.735 X .093
42 2 706668 LOCK, CYLINDER
43 1 413805 SWEEP HOLDER
44 1 415026 BAR, MUNTIN, 4.250 X 1.735 X .093
45 8 413931 STOP, GLASS, IMPACT, 1.125 X .093
46 8 413930 GUTTER, IMPACT, 1.219 X 1.735
47 4 412479 CLiP, GUIDE
48 1 411624 PILE, ADHESIVE BACKED
49 2 413857 FOAM BLOCK
50 1 413858 FOAM BLOCK
51 1 413856 FOAM BLOCK

PART NUMBERS /
ITEM Q1Y DIE NUMBERS DESCRIPTION
52 | 1 157509
DOOR PANEL, SX - LH, (SAME AS 157508)
53 2 312251960 SCREW, FHM-PH, #10-32 X 12 LG
54 1 516552 STRIKE PLATE ASSEMBLY
55 1 413795 STILE, STRIKE - SX, LH, 3.531 X 1.750 X .125
56 1 412944 STILE, PIVOT - 8X, LH, 3.531 X 1.750 X .130
57 1 11879-1 HANGER ASSEMBLY - SX, LH
58 1 412469 RAIL, TOP - SX, LH, 2.875 X 1.735 X .093
59 1 157510 DOOR PANEL, SO -RH, (SAME AS 157508)
60 2 312068499 SCREW, FHM-PH, 1/4-20 X 1.0 LG
61 1 410100 BOTTOM PIVOT - RH
62 5 713844 PIVOT - SELF TAPPING SCREW
63 1 413829 PIVOT ASSEMBLY (UPPER)-SO
64 2 711598 WIRE CLIP
65 1 712175 LOGO, STANLEY
66 1 711463-A BREAK OUT SWITCH (MAGNET)
67 4 312024960 SCREW, FHM-PH, #10-24 X 3/8 LG
68 1 413795 STILE, TRAILING, S0-RH, 3.531 X 1.750 X .125
69 1 412944 STILE, LEAD, SO-RH, 3.531 X 1.750 X .130
70 1 415052 RAIL, TOP, SO-RH, 5.000 X 1.750 X .093
71 2 708867 BALL DETENT ASSEMBLY
73 2 312068499 SCREW, FHM-PH, 1/4-20 X 1.0 LG
74 2 713223 RIVNUT
75 1 413830 DAMPER ASSEMBLY
76 1 157511 DOOR PANEL, SO -LH, (SAME AS 157510)
77 1 410101 BOTTOM PIVOT - LH (SAME AS 410100)
78 1 413795 STILE, TRAILING, S0-LH, 3.531 X 1.750 X .125
79 1 412944 STILE, LEAD, SO-LH, 3.531 X 1.750 X .130
80 1 415052 RAIL, TOP, SO-LH, 5.000 X 1.750 X .093
81 PANIC PUSH BAR - ADAMS RITE 486-11-36
PRODUCT RENEWED
as complying with the Florida

Buiding Code

RosucT REVISED

A NoS5-pZ2%-0F :
Emﬁebnkmmlq ?%Mtheﬂm

EIii‘visioﬁ o

S Y

By 4 é “ 4
- 4 =
m Dad Producy Contra]

REMARKS
ORIGINAL
REVISIONS

2007 FBC

BCCO COMMENTS

Il

——

04-SAT-0039

SCALE:

PAGE DESCRIPTION:

04

,@

.




FRANK L. BENNARDO, P.E,
# PE0046549

OA.dwg

F:\01 Project Files\Stanley (SAT)\2004 Jobs\04-SAT-0039 Bi Part NON Reinf NOA\04-SAT-0039_04d Bi Part NON Reinf N

rbartlett

06/29/2009 - 1:01pm

EXTRUSIONS 6063-T6 C (m\

o s - ] 06/29,
‘_! — " 1735 e . 1180" , 0376 4,500* ~—mm——— ‘\\:\‘““%«_W B
__ P 1.844 ﬁ——‘ ‘l; o Al o1pse 4624 0 -
" iy ' =
1T — oo - @ T - | Z 55
— i— 0 093'E 5.000° @ : o @@ Y ﬂ: E}J ; § g" = %
4.250° —{[— 0093 2.875" |- 0093 ' 0.240° e INSERT Fg % l HUJ u:{i g\ 8 e
- i 1 EXTRUSION 412860 JAMB-4 1/2 W[z 8c82
| f EXTRUSION 412858 A110 ZUZ ugsx iy
- OLf<s-2z2g
— — 2w
S TOP RAIL, SX e — o162 TRACK TUBE 7 X ggg e
MUNTIN BAR 4 1/4 EXTRUSION 412469 TOP RAIL, SO PANEL i PRODUCT RENEWED -5 382
EXTRUSION 415026 EXTRUSION 415052 HANGER DURA-GLIDE as complying with the Flaside EXTRUSION 515056 z o g g f
EXTRUSION 515031 g“‘"fmg Code W= o
ceeptance Ne o082/ . p’7’ o= =
Expiration Dute_Ser 02 2,/¢/ o & 2
{9 e L — I 4.500" | 8 <
Mt Dyl Prodnct Ganten, l o
Pivision 0.096" i 2
- 175 - T g
S e S B — 1 THRESHOLD ohw
@) ] (55)(26) DURA-GLIDE 3000 S5 2
51 0.065" - 125" EXTRUSION 515262 c g g
I . . : noao I:' ]
—{ |~ 0130 —{ 0125 _ @ m 920 = E
GLASS STOP, IMPACT =l CHYEE
el 1 1 DURA-STORM GUTTER, IMPACT | o5 | > BEEEEE
EXTRUSION 413931 DURA-STORM ‘ wodlz2 b
EXTRUSION 412944 EXTRUSION 413795 _ m = EEEER
— Quz <
! Qsfgna
ALTERNATE 0 SZE
._—.T_ 1595+ 1735" THRESHOLD-TAPERED ONE SIDE P
o]
2 4 [
. Hj‘f L EXTRUSION 516340 2 <
2 1 . 00'
§ 6.000 | L E : E j 3 @ 8
. _j < | DD P
0.140 , | | M ==
—f— 0140 6" =SS |3 |0 —
0140" || 35858 =
—{}— o0.140° 0.100* g =
01097 ~= 8.000" . _ m 5|2l 32 =
8.468" E 9.625* i I oo ! g sl=l e E
5625 ALTERNATE T =
D THRESHOLD-TAPERED TWO SIDES =
EXTRUSION 515260 g =
TRACK TUBE A i ] 2 gl2l = =
DURA-GLIDE ¢ 322838 =
EXTRUSION 515056 PROBUCT Rgy; RS =
INTERLOCKS HERE L s comping Ly /S50
= By  Floride
1L mnui:"%// 04-SAT-0039
L B 1 1 Expiration Date W SCALE: 104
[-—»— 1968 BEAI;{%EELIDE - By Lq I é L | PAGE DESCRIPTION:
- RAIL, BOTTOM-SX/SO 9 5/8  RAIL, BOTTOM-SX/SO 9 5/8 RAIL,BOTTOM-SX/SO 9 5/8 2oag |- Cliay . -
B‘B,‘F{i%ﬁSEER EXTRUSION 110755 EXTRUSION 516329 EXTRUSION 516330 EXTRUSION ASS'Y 111434C Bivision F Toduet Contr] -
EXTRUSION 515686 | @ 9
J




